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It is advisable for the student to follow the same procedure on
his 8lide Rule, locating those numbers with the aid of the hairline
on the indicator (runner).

Now locate 478 in the same manner, using the indicator
(runner) to follow each step.

I. Firstsignificant figure 4 {indicates that number lies between
4 and 5). Set indicator at 4 (Fig. V).
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Fig. V. 4
1I. Second figure 7 (indicates number lies between 7th and 8th

secondary divisions), Move indicator to 7th secondary division
(Fig. VI).
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Fig. VL. a7
ITII. Third figure & (indicates the number lies 3/5ths of the
distance between the single subdivision (half) and the next
secondary division (Fig. VII).
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Fig. VII. a78
Numbers eontaining a single digit are located at the main divi-
sions, as—
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Fig. VIII.
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Two digit numbers are located like the three digit numbers,
but are finally located on the secondary divisions instead of the
final subdivistons, as- -
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40970
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Fig, IX.

Numbers containing a large number of digits need only be set to
the third ploce; since the percentage of error introduced in the
result is so minute, as to be insignificant in the majerity of prob-
lems,—especially ratio and percentage calculations, combined
multiplication and division, and multiplications involved in esti-
mating and appraising.

Thus, 187,475 would have to be called 187,000+ and set as

follows : ey
A l”llII'Illli‘mllm””4“”"” ”WW@WWWW
DF il 1|I|n?uuhn| mlmﬁﬁ[ ;
CF 1 \JIll!illléﬂlli\Hullliilllé
i }IIII|HII?1IH|III}?HH|IIHTlllif lu‘?llnhnﬁ’lhhhlﬁ hllh?l‘fl!|l;i:l|hh!|hl|?ml|l|!|hIxfml|
< }1IlllIHHIlIJEFIIIerII 31T if
B ilIlI]IIIIIHIIIIIIIIH!I]H lH "
K hhllhhl:hhhlfl|||!\|H?nu1m?|/ul?uu?u Lehial i I|I|I;T|l|l|h\|?|\H|uu?unhm?nH?uu M mt?;_m?ll ;
P S
187+ I, X,

The student should practice setting and reading until he feels
confident that he can do so accurately and without hesitation.
Then he is ready to give his attention to the solution of simple
muitiplication problems.

MULTIPLICATION
Rule:  To multiply two factors together, set the index of the C'
scale (either the right or left end figure one) adjacent to one of the
factors on the D scale and oppostte the other factor on C read the
answer on D,

2% 8=x
(2ND) SET ¢ INDEX {3”RD) AT3ON C
A fTIT L L0 LN LR TR i S T ]
D¥F |
CF
Ct iIllilllll?llnllIilTlIllhIIl?l|I||I!II?ihf!llli!lhll!lh AR A Iflllll,flllllli%ll
¢ annnnan lhhhﬁhhlrh’
D ”IIIIIIi [II”Hy HIFII%HHI“TI
K Ldadh imﬁlm&mlt IHI dutn { ududat i [ll 1

{1sT) TO 20N D Fig. XT. (4TH) READ 8 ON D (ANS.)



—f —

This problem can also be solved on the CF and DF scales
as fOHOWSZ (4TH) READ § ON DF (1s¥) TO 2 ON DF
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C

D ! G g
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(3rRD) AT 3 ON CF {2nD) SET CF INDEX

Note that the settings on the C and D and CF and DF
scales occur simultaneously. When 1 on C is at 2 on D), the 1
on CF is at the 2 on DF; and when3on Cisat 6 on D, 3 on CF is
at 6 on DF. Consequently these scales may be used interchange-
ably. For instance, the settings may be made on the ¢ and D
scales, and the answer read on the CF and DF scales; or the
settings may be made on the CF and DF scales, and the answer
read on the C and D scales.

In the majority of the illustrations of examples which follow the
solution is shown both on the € and D and CF and DF scales.
The solution involving the C and D scales is indicated by solid
lines, and that involving the CF and DF scales by dotted lines.

18 X 26 = x.

(2ND) BET C INDEX OR CF INDEX (3RD) AT 26 CN C
~

R MG P
AT A T Al

I ||n|ll|lé LUt}

adinntnedn

b

D 2 At
K (I HIAL] i R t 1l y ? | 1n u?min: 1] 1
1 -
o e il 'I
(sTiTot8ON D -~ Fig, XI1. (47H) READ 268 ON D {ANS.)
CR 18 ON DF
T2 % 51 = x. (3RD) AT 51 ON C (2uD) SET RIGHT INDEX OF ¢
s OR CF INDEX
o JTTITS O Ty j
D F . L ﬁw|¢ﬂ[i“:"l‘ﬁr\ull\‘lll HT"I"‘ i :
cF g ‘|‘ L LR I B
cl J\hld\Izh!tlfﬁi:]l!:ldu!r!:l|I\?liahl|||!|l'Tmlﬁ st s oo
c

e WH},LI*J" ';Jl‘ilﬂgﬁ'v rﬁw*ﬁ
K \a s IIHRAEN ?\I:!\‘jll Juin_mTﬁu d L

Mo )

(ATH) READ 3872 ON D (IST) TO 72 ON D
Fig, X1, OR 72 ON DF

The slide rule gives 8670, but the 4th digit is obviously 2, since
the last digits of 72 and 51 are 2 and 1 respectively,
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Note that in making settings to solve the last problem that the
right index must be used, instead of the left, as was used in the
first two problems. If the factor on the slide rule falls beyond the
lemit of the D seale when the left index is used, use the right index.

THE DECIMAL POINT

Important: No mention has been made as to the method of
determining the position of the decimal point in the last problems,
since it has been apparent at a glance. In most cases, however, the
operator should substitute round numbers for those appearing in
the problem and determine the correct position of the decimal point
by approximation.

Thus—247 x 34.2

(3wD) AT 342 ON & (2nD) SET C INDEX
QR B4Z ON CF OR CF INDEX

A,WEJW# u/”'g'i;gﬁfi,uwﬁ I—Elll\pp“‘JEF'! ||||mé||ir5!rs‘|?l§u HUL i\ll;lgillliﬁj
: : L- 1 i i i %IIIIIIIINIFIIIIIJ?IIII [llﬂ

|hf|l|?l|l||||||\l\llf
gy @'L 5

u|ﬁmTr|||?uu?pJﬂ?m?l\mmmhhhrrhhﬁm|nuMmmf|m IIEIT!F fisndd

K ‘ufmfﬂmgn\}:tllmh |I\hm;\?r\|l‘r§un\?n

............. -~

(187) TO ;:7 ON D READ B45 ON [
Ok 247 ON OF Fig XV, or 845 0ON DF

Make the setting in the regular way, and read the answer 845.
Substitute 2 for 2.47 and 30 for 34.2 and note that the answer would
be approximately 60. Therefore the answer must be 84.5, which
is nearer to the approximation than 845 or 8.45.

When the student has operated the slide rule for some time, he
will learn to make these approximations mentally and almost
instantaneously.

DIVISION

Division is the reverse of multiplication; refer to Fig. XI,
showing 2 X 3 = 6. The same setting shows 6/3 = 2.

Rule:  To divide one number by another, set the divisor on the C
seirle to the dividend on the D scale and read the quottent on the D scale,
opposite (e (" index.

Example: 375 + 35

{(2ND) SET 350M & {3mD) AT C INDEX
OR 35 ON CF CR CF INDEX

Prrm—

Lljll\lgllti

HFHIIJFH.II:%HH!II‘ FITLETTIIINGL I}“—i’r[l’i’rl]!il]ﬂll [} !f [T,
afh 75'“%: M?gil T guiwgl iy

H uwﬂ‘ljl\\\

% -

¥ ii!\lfl‘lim\ﬂlill?llIJ|llll?\llhhhliwwﬁﬂl?\h.‘e
C I \"s it
| ‘

Sy &
K ?m‘?n.}mhI|hf:lll:hlﬁ}ﬂwﬁunlun‘h|H?Hu?-ﬁﬁ:mu Il\ﬁ:!'w}\|I'Iﬂﬁﬂd::\fiﬁIIIIHH?HHII L(H?llu?llirllﬂﬁnmllli

W T b

(4TH} READ 25 ON D Fig. XV, Ost)Tos/sonp
OR 25 ON DF OR 873 ON DF
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As in multiplication, the decimal point should be set by approxi-
mation. Substituting round numbers, in the last problem, shows
that 900 divided by 80 equals 30. Therefore the answer must be
25, since this is closer to 30 than 250 or 2.5.

MULTIPLYING OR DIVIDING BY =

Note that opposite the indexes of D, the DF scale reads 8.14+
which is the value of 7. Thus, opposite any number on D, that
number multiplied by 7 will appear on DF. Since the diameter
of a cirele X equals its circumference, opposite the diameter on
D, read the circumference on DF. Thus to find the circumfer-
ence of a circle 13 in. in diameter, set the indicator to 12 on D
and read 40.8 in. on the DF seale. Conversely to find the diam-
eter from a known circumference, read from DF to D. The same
relationships apply between the " and (F seales,

Examples: Find the circumference of a circle whose radjus is
261. Since (' == 27R, set the index of the C scale to 261 on D;at
2 on €, read 1640 on DF.

Find the area of a circle of radius 17. Since A — = xR xR,
set the index of (" to 17 on D; at 17 on C, read 908 on DF.

Find the diameter of a circle whose circumference is 10. Onpo-
site 1 on the DF scale read 3.18 on the D scale.

THE INVERTED SCALE

By using the CI scale the operations of multiplication and
division are reversed.

Rule: To multiply two factors together, set the hairline of the
wndicator to one factor on D, bring the other Jactor on C1 to the hairline
of the indicator, and read the answer on D opposite whichever index
of C is on the scale,

24 X385 = x.
{2ND) SET 24 ON €1 {3RD) AT INDEX OF C
-
o T T T
bFy RN QNAETE IE 1I||J| ]Jf\IHI‘IIIII‘H !

‘Hili‘l\ T Hw I Flll\ill Uil
|||||I|1/IIT|I%‘IIIIIIIIEIIIIHHIIIFIII]JIII|||JIIIHIIJIIIfII l}

i ¥

K“ I I Ll di 4?‘ \}[ ' rﬂ%lmfl I
— Lo E

(1sT) TO 35 ON D (4TH} READ 820 ON D
Fig. XVI.
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Rule: To divide one number by another, set the inder of C
adjacent to the dividend on D. Move the indicalor to the divisor on
Cl, and read the answer under the hairline of the indicaior on D,

T4 +4 = x.

{sro} AT 4 ON €1 (2ND) SET INDEX OF €
O
A@WWW{W%}I{\ UL iy
D F Wl “u’l,” Tl B

T é\l”al'{!;ﬂl
CF /
ci Iilll?lmifl!!lrl\hh‘t il

c bt AR L Nl
o (ﬂ]lj]”?ll” ll‘llu“!l!rllf! I!\]\r; l.l| LI ;![Il‘ El.l]‘l E‘:‘”J}l‘[‘?él;Ir‘]'ii’lji%li']llllﬁl’l‘lw[IIEJIJJIIJE?JII;W‘

K!E.l!% i?[@r% fodelalddd o

{4TH) READ 18,5 ON D (isT) TO74 ON D

Fig. XVII.

SOLUTION OF PROBLEMS INVOLVING
BOTH MULTIPLICATION
AND DIVISION

Problems involving both multiplication and division ean be
worked out on the slide rule with great rapidity, whereas con-
siderable time would be required for solution by the arithmetic
method.  Note, in solving a problem of this type, that it is not
necessary to read the answer for each step, since only the final
answer is of interest,

840 > 648

Example: - 74T T = X

"The best method for solving problems of this type is to perform

divisicn first; then multiplication; and to continue in this order as
far as possible.

To 840 on D set 790 on C (division}.
Move indicator to 648 on (' {multiplication).

(3RD) AT 648 ON C (2nD) SET 790 ON ©
OR 848 ON CF OR 78Q OGN CF
AW}@H|+|mgmgan41rp||‘||—||’[1£||||J||||W|I| IR Y
o F b ko b
CF 1 iy ! L HUULb L
Tl 1 N ]

ct I||||?:I|I1I1Id;l|l|lih‘hi|l|Ith||l|lrTrth‘:lll|I|||I|Ilh|| Al e llilfl nlond |l1
e RIS TERTETE Y
D { T e ™ \1 5

(4TH) READ 8§89 ON {18T) TO B4O ON D
OR 888 ON DF OR B40 ON DOF

Fig. XVIIL



MULTIPLICATION OF THREE
OR MORE FACTORS

Three factors can be multiplied at one setting of the slide. This
is accomplished by setting two of the factors on the regular scales,
and one on the I seale.

Example: 942 x 3.5 x .0164,

(2ND} SET 942 ON CI (1sT) TOSSOND

AT T @WW
NI il AEeT AT

3 e

St ihhhhhhhlalmIahl:hhl|I1Im?nhI|I

}Illt

o '

K dlhhhwﬁ\|||i'|m?|whm |

(4TH) READ 531 ON D (3RD) AT 184 ON ©
Pig. X1X.

If four factors are to be muiltipiied, proceed as above for the
first three, bringing the hairline of the indicator to the third factor,
shifting the index of C to the hairline, and reading the answer on 1
under the fourth factor on . Any number of factors can be
handled through this procedure.

PROPORTION

Problems in proportion are encountered daily, and offer one of
the most common uses for the slide rule. Among problems of this
type are those which call for—

(1) The conversion of yards to meters, dollars to pounds,
knots to miles, inches to ecentimeters, ete.

(2) The determination of weight of one quantity when the
weight of another quantity is known.

It will be found that when the slide is set so that 2 on C coin-
cides with 4 on D, that all readings on C and CF bear to the
coineiding reading on Dand DF aratioof 2 :4orl : 2.

Stating this in a general rule--with any setting of the slide, ail
coinciding readings are in the same ratio to each other.

Example: 2.7 quarts of a liquid weigh 4 Ibs. To determine
the weight of 1.4 quarts, set 2.7 on C scale adjacent to 4 on I
scale and at 1.4 read the answer 2.07.

{3RD} AT 1A ON C

(Pno) SET 27 ON C

i

A J §
D F\?nmm!lmmm 1
CF él|||[|||||

et

3
€cumn|?|h'uh]|l§l|hh|\?ml: 1) !!Il’mr?rf|'l’|l’|'l|||||l|||Ili
K ‘ | n?ru|ug1?nn? cﬁml‘rmﬁm un}rlmw |h|||:h?||||‘|m5mﬂ| \mt:x?lwlﬁi-:muﬁlﬁnﬁ{i|I|I111||l;|||ih?unhm?mm

- S S

11
It

HHIT Hn?nnlu

(4TH) READ 207 ON D (1sT) TOAOND
oRr 2_07 ON DF

Fig. XX,
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Example: o convert a number of different readings in square
meters to square yards, set 1 on C to 1.196 on D (1 square meter
= 1.196 square yards) and opposite any reading in square meters
on C, find the corresponding reading in square yards on D.

SQUARES AND SQUARE ROOTS

The A and D scales are so arranged that if the indicator is set
over a number on I, its square will be found on the 4 scale under
the indicator line.

Rule: To find the square of a number, set the indicator io the
number on the D scale and read its square under the indicator line
o the A seale.

Example: Find the square of 43.8.

(ZND) READ 192 ON A

/

r— %
AW%nwmgmgli\,l\l[ T PR H”Aﬁm'w"éW
T A C T
e ke}.e,.;;a.{a@.w}m5.:4:!.1‘1:m}.l s e SRTITR %%{%H;}%%;}{&l
(=1
~
Uttt S S til||?lm I‘!|IIIi|lIH|IHIIIiJiIIIII|IlIIIIIil|||||1 §
C\ Lo Bl
0 ir{!M!5:l:m!,:iié{,m”w i
K i A A AT
{IST) SET INDICATOR TO 438 ON D Fig. XXI.

The decimal point is set in the same manner as in multiplication
and division. Squaring 40, the nearest round number to 43.8,
gives 1600. Therefore the answer must be 1920 and not 192.0 or
19200.

Rule: 7o find the square root of a number, the reverse Drocess is
used. Set the indicator at the number on the A scale and read the
sqiare root on D, under the indicaior line.

Important: Always use the left half of the A scale for numbers
with an odd number of figures before the decimal point and the
right half for those with an even number of figures to the left of
the decimal point. For numbers less than 1 (decimal fractions)
use the left half of the A seale when an odd number of zeros occur
between the decimal point and the first digit. Use the right half
of the seale when no zeros or an even number of zeros oceur between
the decimal point and the first digit.

Example: Find the square root of 625.
Use left half of scale (odd number of figures.)
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(1sT) SET INDICATOR TO 825 ON A (LEFT HALF)

& [T G i SRRy
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-

(2uD) READ 25 ON D
Fig. XXII.
Find square root of 6250, As this number contains an even

number of figures to the left of the decimal point, the right half
of the A scale is used.

{1sT. SET INDICATOR TO 6§25 ON A 'RIGHT HALF)

{ZND) READ 791 ON D
Fig. XXT11.
By approximation, the answer is 79.1.

CUBES AND CUBE ROOTS

The K and D scales are so arranged that if the indicator is
set over a number on D, its cube will be found on the K scale
under the indicator line.

Rule: To find the cube of a number, set the indicator to the
number on the D scale and read its cube under the indicator line on
the K scale.

Example: Find the cube of 4.38,

R A e I T

(157} SET INDICATOR TO 4.38 ON O {2nD) READ 84 ON K

Fig. XXIV.
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The decimal point is set as previously explained on page 7.
Cubing 4, the nearest round number t04.38,is4 X 4 X 4 = 64.
Therefore the answer must be 84, and not 8.4 or 840,

Rule: To find the cube root of @ number, set the indicator to the
number on the K scale and read the cube root on D, under the ind;-
cator line.

Important: The K scale consists of three sections. The cube
roots of whole numbers with 1 or 4 digits, and the cube roots of
decimal quantities with two or five zeros following the decimal
point, are found by using the left-hand section. The cube roots
of whole numbers with 2 or 5 digits, and the cube roots of decimal
quantities with 1 or 4 zeros following the decimal point are found
by using the middle section. The cube roots of whole numbers

the right-hand section. Thus: the cube roots of 008, 000008, and
8000 are found on D opposite the left-hand &; the cube roots of
00008, .08, 80 and 80000 are found on D opposite the middie 8 ;and
the cube roots of 0008, 0.8, 800 and 800,000 are found on D
opposite the right-hand 8.

Example: Find the cube roots of 6.25, 62.5 and 625.0,

1.84 3.47 B.55

afm [T T T
DF !III\IIF g fmmmlnnlw | lfh‘hh mlfm
CF e LLEI LR {]FI\ 1T lllllllJHl Flli|IH]|T IJI' il'l I[i {'i[T‘
CHhy mﬁin | lll?lll]lm hhhhlﬂ‘lhhI|I|hlrhl|I|?rhl\l| Wil |?mimnluuiunlrmhi:r ity m\lrmf
¢ Jll|l|||}|lf||l?l|im VLT TP ml!m?uuhlui HIHH?J!U i

o TPt L SN S i

K ul mm?mg ummnim} [ IllirrhllﬁlHI'!II\?IIIIIH ITIIH?IIII? HTIIH mEm} il |I=I:|mM|ﬁ||n|| IJ?I ulsr? i \fu j1f M ||J?mmu1

6.25 62.5 625
Fig. XXV,

The Decimal Point: In cube root the decimal point is placed
as follows:

Where a decimal fraction has 3, 4 or 5 zeros after the decimal
point, its cube root will have one zero between the decimal point
and the answer as given on the D seale.

Where a decimal fraction has no zeros, 1 or 2 zeros after the
decimal point, its cube root will be the answer as given on the D
scale, preceeded by the decimal point.

Where a whole number consists of 1, 2 or 3 digits, its cube root
will have one digit before the decimal point,

Where a whole number consists of 4, 5 or 6 digits, its cube roct
will have two digits before the decimal point,
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TRIGONOMETRY

The slide rule has been adopted by many High Schools for use
in connection with their Trigonometry work, 1t can be used for
the actual solution of triangles, but is more often used to check
answers obtained by other methods.

Problems of multiplication, division and proportion, in which
one factor is the sine or tangent of an angle, can be quickly solved.

Rule: The numerical value of ihe sine of any angle on the S
scale can be found directly below 1t on the B scale, by setting the angle
on 8 to the index on the back of the rule, and reading the sine on I;
or by removing the slide and re-inserfing o with the S and T scales
outward, in which case, when the tndices of S and A are in alignment,
the sine may be read directly on the A scale opposite the angle on the
S scale.

Important: All natural sines read on the left half of the A and
B scales have one zero between the first significant figure and the
decimal point.  The natural sines read on the right half of the 4 and
B scales have the decimal point just before the first significant figure.

This must be borne in mind in determining the final location
of the decimal peint in problems making use of the sine and tangent
scale,

T'o find sine 3°.

Slide Reversed:
Indices of S5 and A in Alignment.

(18T) SET INDICATOR TO 3° ON S (2ND) UNDER INDICATOR READ .0323 ON A

( P A AU Ry WWWWWW

DF L '||1 '|h?=]|hm 11\'1'? mhm it I HIJJrfﬁMH st o o et
T qla 510.1 L /S A { P Rl i Hs
i Iil | ‘ II Ill[llé‘l‘llw|IIII|I‘J‘|IHV \A\Hlirlllé\ HI%HIIJ?I \llllgl\li l!ll] I |Il l l iéji'l‘ll

?m.unlwm.:.r.nm.nnlu.rm.mm n.!r.m mnm.rf. s.lhm.m
?. f

whmh u!l\.! \}r] J
TR 'i TETLT

X rllllllml_lmll\h?\llllnn?m!mm\|||?m:?|w m?n:ﬁ’nn}\! uh!lhhrM‘i\'nlm?uumn?sln?n||?|m‘ﬂm mm.l m:f
— 1
Fig. XXVI.

Slide in regular position:
{1sT) SET 3° ON § TO REAR INDEX

/

]

3 4 l”-|||l|;\ T %HH f‘lL'T[TT]n“ |‘|‘|\ T ||Ii‘|!TI|[I'H|IIII‘IIHII IHI»IUMH[
(AR ET Ill\éllllgl\lillil\w 1 I‘ I \ li\l\l I|w.l’Lié\lllIllllAl\l\ll\kl IlIIlIIH 1y Ii\%\l\lgbﬂi B
I\I A I\I\|:.|h\|l.h|\I\IJ..HMI\I\IJI»M r.ammmnnT |IwI\Mrh\|\|13|!:’\I\I\hll\mhgl:’»lwlwhl.l L
Rty alul '\l \Il |11Hh‘r\‘ﬁ?|!]lhl!iil ﬁi)il‘\[l‘[H"ﬁ?t!lIF\'}‘i|L'I\I!iI‘l['llll‘l‘]l\']lhill'illl T

{2nND)Y AT INDEX READ .0523 ON B
Fig. XXVI1L
It is necessary to have the slide in the reversed position, with
the S scale on the front face, when following the next sueceeding
paragraph:
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(rauge points are placed on the sine scale for reading sines of
angles smaller than those given on the regular scale. Near the 1°
10’ division on the S scale is the “seconds” gauge point, and near
the 2° division is the “minutes” gauge point. If the gauge point
on S is set to any number of minutes or seconds on A, the sine of
that number of minutes or seconds can be read on A opposite the
index of S, Thus, to find the sine of 107, set the “seconds’ gauge
point on S to 10 (middie 1) of A, and at the left index of & read
485 on A. Since the sine of 17 is about 000005, the sine of 107 is
0000485, To find the sine of 127, set the “minutes” gauge point
onStolZon A. At the left index of S read 349 on A. Since the
sine of 1’ is about .0003, the sine of 12/ is .00349,

Rule: Thke natural tangents of various angles are read by plac-
ing the angle on the T scale opposite the index mark on the back of
the rule and reading the tangent on C al the index of D; or, by revers-
the slide as noled wnder sines, in which case, when the indices of the
slide and body are in aligrnment, the tangent may be read directly on
scale D opposite the angle on scale T, The natural tengents of all
angles read in this way on the C scale have the decimal point just before
the first significant figure,

Angles below 5° 43/, as will be noted, cannot be read on the T
scale. However, as the natural tangents of angles below 5° 437,
for all practical purposes, are the same as the natural sines of like
angles, the natural tangents can be read from the S and B scales.

The natural tangents of angles greater than 45° should be found

1

by using the formula: tan x = n 90° %"

SIMPLE PROBLEMS MAKING USE OF
THE § & T SCALES

Slide reversed:
Example: Multiplication. 4 X sin 11°,

(IsT) TOAON A (4TH) READ .764 ON A

A%:{m{%ﬂm nnylngingmip;:m ] \\(lénmu'p¢,Iéu||1|muu|gnugul|1w Ty

oF 1 1lrm!m%'||n|1 lll'l!\i L
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HRANA A hhh}dllmlwhhh lhhlllrhI\]lI:!|F|T|1|I|Irhhrmlll I\hluhhhhl lzlwlwlwhhhhq I 1ehilildy :|\I\I1I|I|-'I’lh |1|I|||I_| [
8N . Lo B A P L LT

(2ND) SET LEFT INDEX OF § {3mD) ATI1°ON S

Fig. XXVIIL,
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Example: Division. —— o = x.
P tan 25°

Slide in regular position:

(28D} AT 3 ON ¢

b
Dldatdli, 'Hnl
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i2rn) READ 6.44 ON D

{151) TO REAR INDEX
SET 25 ON T

Fig, XXIX.

Slide reversed:

(2nDY SET 25 ON T

\3RD} AT RIGHT INDEX OF T
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(1sT) TC 3 ON D Fig, XXX (4aTH) READ 6.42 ON D
Example: FProportion, - g = e
T osin 9° sin 30°

Slide reversed:

(ISTY TO3ONR A (4t} READ 9.59 ON A
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(2vD) SET9 ON S Fig. XXXI. (3rRD) AT 30 ON S

T
I
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CHECKING AND SOLVING OF TRIANGLES

The following is a typical right angle triangle problem, with one
side and adjacent angle known.

B Given A = 32° 3
orm14.7 N c = 14.7
To find: Sides
2 a and h,

Fig, XXX,
According to the sine formula:

) b c

sin A~ sinB §n G
Set90°on Stol14.7Ton A

At 32°30'on Sread 7.90n A
At 57°30'on Sread 124 on A
{(a) opposite angle (A) is 7.9,
(b) opposite angle (B) iz 12.4

When functions other than the sine or tangent are encountered,

make use of the following formulae to express them in terms of
sine or tangent,

cos X - - sin (90°-x) sec x - - - {10
FOE m sin {90° - x)
tan x 1
C8C X - -
sin x
Thus, if 3.4 X esc 14° =y,
3.4
Y = dn 140 A4.05

and solve as follows:

Slide reversed:
{(1sT) TO1L4ON A {4TH) READ 14.05 ON A
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(280) SET 14 5, 5 5
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Fig, XX NJII. (3rD) AT RIGHT INDEX OF s
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